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System should be wifh two defe.ct.ér‘ 2 UV detectors," w1th more ':tha“na one | 13.2.N. 7 1
wavelength”
capable to read 3 wavelengths The basic system comes with 1 UV detector a
2nd UV detector could be added as an
accessory. Should we offer the system with 1
or with 2 detectors? *both detectors can have 3
wavelengths
True “Integrated air sensors in inlet valves of 13.2.X.7
' : - detector”
Thie-air s‘ensor integrated in inlet valve The air sensors 7 detectors are integrated in
and not in detector. the inlet valves, an extrnal air sensor /
detector could be added on one of the inlet
ports. Sensor cannot be positioned on a
F detector. This seems to be a mistake. Could
j this be corrected?
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